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17,5=3,7x 4,73 alull 4,4=2,3x1,8
16,10 = 3,7 x 4,35 adusall alln 2,88=1,6x1,8 Jasall gjga
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[0 Ijia 310 aslwall




(A1) 23gai - Jlall - clidl hhaa

aaluall aaysll daluall aayall
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9,25 =3,7x 2,5 d2aall

3,78 =1,8 x 2,1 alw<a

3,57 =1,7x 2,1 wagln @laa

23,31=3,7x6,3 Jgllnll
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18,13 = 3,7x 4,9 @l=hll alln

47,88 =7,6x 6,3

aduoall alln

Ja\l 3,38 = 2,33 x1,45

adu=all @las
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19,24 =3,7x5,2 atha
11,10 = 3,7x 3 Jjiha
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dluwall aaysll @ luall aaysll
16,17 = 3,7 x 4,37 alwll 9,25=3,7x 2,5 Joaall
19,61=3,7x5,3 adu=all alln 3,78 =1,8x 2,1 alwso
18,21= 3,9x4,67  aiusall alln gulji 3,57=1,7x 2,1 wg1A @las
17,76 = 3,7x4,8  awwijll agill aaye 23,31=3,7x6,3 ggllall
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425 25y 17 agill aaj¢ @las 18,13 = 3,7x 4,9 @l=hll alln
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14,80 = 3,7x4 1gill agyc 13,8 = 3,7x3,73 aiyls awls
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14,80 = 3,7x4 2 @gill agy¢ 1,10 = 3,7x 3 Jjra
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@slwall aaqysll @slwall aaqysli
20,09 = 4,9 x 4,7 alwll 8,51=2,7x 3,15 JHaall
14,72= 4,6x 3,2 Qulyi 2,8=2x14 dlwa
57=3,35x17 @lwll ¢jga 3,1=2x1,55 W @las
19,6 =4,9x4 @il @gill agye 27=4,5x6 ogllnll
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5= 3x17 (Qg_mc,_QJ_c (Q[fD 22,05 =4,9x 4,5 @l=2hll alln
Apuill Jgul 39,36 =9,6 x 4,1 adu=all alln
5,25=3x1,75 wlla agyé 3,05 =2,9x1,05 adusall @las
3,66-1,7x215  Cucabbege BAZ 4532 atha
aputijll @gill
17,55 = 4,5x3,9 1gill aaje
17,55= 4,5x3,9 2 gill aaye
23,2= 6,1x3,8 s @las
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@slwall aaqysll @slwall aaqysli
20,09 = 4,9 x 4,7 alwll 8,51=2,7x 3,15 JHaall
14,72= 4,6x 3,2 Qulyi 2,8=2x14 dlwa
57=3,35x17 @lwll ¢jga 3,1=2x1,55 W @las
19,6 =4,9x4 @il @gill agye 27=4,5x6 ogllnll
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5= 3x17 (Qg_mc,_QJ_c (Q[fD 22,05 =4,9x 4,5 @l=2hll alln
Apuill Jgul 39,36 =9,6 x 4,1 adu=all alln
5,25=3x1,75 wlla agyé 3,05 =2,9x1,05 adusall @las
3,66-1,7x215  Cucabbege BAZ 4532 atha
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17,55= 4,5x3,9 2 gill aaye
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